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SECTION - A
iy General Awareness

Capital of Australia is 1 BCR Y exacutes three imes as
(A} Sydney many paople as the resl of the World
(B) Melboums ﬁ_','_l_!"_l_lbinnd... and uses mobile
[©) Brisbane A USA

(8 China
Currency of United Kingdom is (C) UK
(A) Pound @) India
‘Ef} gﬁt“:m 6 June, 3% Sunday is obssrved a3
D) Rupee () Mether's Day

(B) Waorker's Day
Which of the following is & Mon-UN (C) Father's Day
member ? (D) Childrer's Day
(A ZRath By e g. JwalaGutiais sssociated with
(C) Taiwan (D) Uganda :

(&) Boxing
gird flu atfects (B) Tennis
(A Catile (C) Badminton
(B} Poultry (D) Squash
(C) Shesp : _
D) Silkworm 10.  Among the following Crickel g_munds.

which has the highest capacity 7
“To myery action, there is an atual () Melbourne (MCE)
and opposite reaction.” The above is (B) Kolkata (Eden Gardans)
(A} Nawton's Law of Gravitation (C) Mumbal (Wankhede)
(8) MNewton's First Law of Motion (D) London (Lords)
(C) Newton's Second Law of Maotion

11, EWVM stands for

Ax

(o) Newton's Third Law of Maotion

__iscalled Gateway of India.
(A) Mumbai  (B) New pelhl
(G} Kolkaia {0y Chennal

(&) Eiectric Voling Machine

(B) Electronic Voting Machine
() Electronic Voting Methed
o) Everyone's Voling Machine
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12.

13.

14.

.

16.

A*

\ﬁfhl:huﬂnc#thafnllmﬂingiuurh’ﬂdas

contaln an apcount of magical chams
and spefis 7
Y Rig-Veda (B) Yajur-Vada

(©) AtanaVeda (O) gama-Veda

Which of the following companies
rins the largest retall supsrmarket
chain in India 7

(A) Pantaioon

(B} Reliance

(C) Shoppers stop

(Dy Trent

In India who among the following
discharges the functions ol
Prasident when yacancies oceur in
tha offices of the Prasident and of the
Vice Prasident simuitanacusty 7

(A) Criel Jystice of India

(B) Speaker of Lok Sabha

(C) rontrollar and Auditor General of

india
(D) Union Home Minister

\Which of the fallowing is indla's latest
seventh damestic {bdwmﬁ alriing 7

(&) IndiGo

(C) Go Air D) Sgice Jet

s k. syl 100 Hindi writer
chosen for the prastigious Jnanapith
award for 2013 and is the 4gW™
reciplent of Jnanapith poward.

(&) Sumitnranandan Pant

() Shobha Dey

(C) Waran Singh

(D) Kedamath Singh

(B) Air Asia India

17,

18

18.

20.

(A) Human Resource Development
(8) Health and Family Weltare

(C) Women and Child Development
(D) |nformation and Broadcasting

The alarmingly dangarous virué
which has taken so many lives in
Wes! African countries and is recently
making NEws in India also is

(A) MNebula

(By Pamela

(C) Ebola

(D) Biola

soolikeri village of Badami in

Karmnataka has baen In NewWs recently

tar which of the totiowing incident {)

(A) Death of people due to disastrous
lzndsiide

By Boy called Thimmanna rrapped
in a horewell

(C) Gangrape

D) None of thesa

Which Amendment 1o our Constitution
provides for tfres and compulsory
aducation to all childran of the age of
six to fourtean years 17

(&) 88" Arendment (2002)

@ o8 amendment (2011)

cy 92" Amendrmant (2003)
(D) a3 Amendment (2005)
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ii} General Intelligence an

a1, Vilas ig taller than Shyam but shorter
than Umesh. Umash is tallar than
Fajat but shorter than Ganesh. If
Shyam is taller than Ralatwhois the

shortest among ali ?
(A} Ganesh (B) Rajat
(G) Shyam (D) Vilas

22, \May starls walking straight towards
East, After walking 75 matres heums
to the laft and walks 25 metres
straight. Again he tums 10 loft, walks
a distance of 40 metres straight; again
he tums to left and watks 2 distance
of 25 metras, How far is he Trom the

gtarting point ?
{A) 35 meires {B) 140 metres
(Cy 50 meires (D) 25 metres

Directions (s, 23 t0:26) : In these guestons
threa of the four are alike ina cartain way
and so form a group. Which is the one that
does not belong to that group 7

23, (A) Kilometre
(B) GCentimetre
(C) Thermomeirs
(D} Millimatra

24, (A) Venus
(B} Jupitar
(C) Mercury
(D) Moon

25. (&) lron
(B) Mercury
(C) Copper
(D) Aluminium

A=

26.

27,

28,

0.

31

e

d Reasoning Ability

(A)Y 23
{C) &1

B) 49
D) 90

“AISEDORTUNE" — From the letters of
this word which of the following
cannot be formed 7

(A} TQUR (B YOUR

(C) UNITE (DY MUTE

In the following alphabet which letter
is fifteenth to the right of tha letter
\which is third to the leftof H ?
AEGDEFEH!JHLMNDPGH
STUVWXYZ
A T

Ty R

| v
D) W

In 2 bag of fruits, all but gight are
apples, all but sight are bananas and
all but sight are mangoes. What is the
tetal number of fruits in the bag i

(A) 24 B 32
(C) 12 (D) 20

I ' means '+, "+ mMaans 2 Ty

means “+' and '+ maans =
EU—T55-55+E+'|=?

Ay 13 B 7

(C) 45 [0y 25

‘o and ‘D’ are sisters. ‘A and '8 are
brothers, O's brother is A's son, How
is ‘B’ related 10 'C' 7

(&) Uncle
(C) Brother

(B) Father
(D} Grandiather
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Il}mﬂﬁgﬁﬂﬂwmﬁw
ﬁmmﬂﬁ%m%mh 26, (A) 25 (B) 49
ﬁﬂﬁﬁﬁﬁl‘%%ﬁnﬁmﬁm%t (c) 81 (D) 20
Py T R S B A I e
FART 27. -Mlsmn‘mnfmﬂﬁﬂmﬁﬂ%
(a) T @) Py 8 e e T AT S
) W o) Fe () TOUR (8) YOUR
(C) UNITE (D) MUTE
e oy i ey T A T © |
75 i aeh AR g N s e | 25 st & H sy 35 el v |
aﬂTﬁzﬁiﬁE{ﬁﬂﬁlﬁEﬁlﬁ 35 et e TR S
ﬁuwmﬂ’m#ﬁm%ﬁﬁs ABCDEFGHIJKLMMOPQH
el i 1t 25 e o Rl = STUVWXYZ
%Iﬂmﬁﬁﬂﬂﬁﬁmﬁﬂ%? T B V
(&) 95 it (B) {40 W2t () R @) W
(C) SO (0) 25#E "
29, mﬁﬁﬁqﬁﬂ%ﬁqmﬁﬁsmﬂa

frdy (3. 23 H 26) 27 A W R A G
ﬁﬁﬁﬁﬂﬁmtﬂlmmqmw
m%iﬁmﬁwﬁqﬁrﬁm

24,

0.

31.

%,mzﬁ@a_mﬁﬁhmmﬁ
ﬁanﬁlmﬁiﬁﬁeﬁﬁﬁﬁﬁﬁi?
(A) 24 (B) 32
(cy 12 (D) 20

f e R e A
A o b T o R S A

'-—’%?i'L
Eﬂ—15:¢5+2+1=?
(Ay 13 By 7
(C) 45 (D) 25

-::rai'ft-u*aaﬁ‘%mafn'a'ﬂéh
‘o' ﬁﬁh‘ﬂﬁ'ﬂ‘h'ﬂ'mtﬁm
frme?
(A) =
(C) o8
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32.

A

In a carain code 743" means “piay
gamewell’, ﬁﬁ*nﬂﬁ“saywﬂm“
and ‘934’ means “play game now'.
\AfHich digit means ‘now’ in that code ?

AB.CD.EF, & and H are siting in
ar;imbatanlnu?tsmntre.ﬂ-i‘lssnmnd
to the right of A, 'C' s to the
immediate left of A, 'F s between
A" and 'H'. ‘G is diametrically
opposita to 'C'. ‘B |5 directly opposits
to'F. EandD'are an eithersideof 'B'.
Who ls sitting third o the left of ‘A 7
(A} E B G

(cy B o) F

in a certain code languags. Tom
kun Sud means Dogs are barking ,
'Wun Jo Mop' means ‘Dogs and
horsas’, ‘Mut Tom Koo' means
‘Donkeys are wad. Which word in

(A} Sud
(C) Jo

The number of fruits In a basket
doubles every minute. The basket is
full of fruits in one hour, \When was
#a basket one sighth full 7

(Ay in30 minutes

(B) in45 minules

{Cy inS0 minutes

(D) n57 minutes

36.

38,

PANKO s written a3 OBMLN.
SAROD may be written as

(A) REPQC [B) RBSFC

(G) REQPC (D) TBQPC

i is in ‘honest', in the sams way as
isin

(a) ball (B) bull

(C) doubt D) break

The posilions of how many digits in

the number 531 4g87 will remain
unchanged afiar the digits are
rearranged in ascanding order within
the number ?
{A) MNone
(B} One
(G Two
(D) Thres

\What should come in place of the
guestion mark (7} in the following
letter saries 7
ACEGIKMO?
(a) PH

(B) Q5

{c) QR

(D) PS

‘EPIC is ralated 1o ‘CIPE inthe same
way as ‘RIPE 15 ralated 1o
Ay EPIR
() PERI
([ EPRI
0y PEIR

il
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T R A

a2, ﬁﬁfﬁagﬁ'?m‘ﬂm%‘%

Ax

s, 657 FHTCH B CHEAEA
<ht ‘gaa’ w1 weem & R AR

(Ay 3 (B) @
(c) 4 (D) 5
A B C.DEFG i H TR A

sotlAdHFERFRIC
5w o = fef GNP
& o wa BB B E A E
p ¥ A S wE SR
maRaE ¢!
(&) E

{C) B

B C
oy F

e Tt =g W ‘T A G
srr & 2 AR A ‘A AT EY
=1 e 3 2fe ofz wEE, HE 2T
= =1 e b, e AR TS |
'mﬁm’ﬁ:ﬁar:mqmﬁﬂqmmt?

A = (B) M
(cy = (D) =
@ﬂmﬁ#mqﬁmﬁmﬁﬁtﬁﬁl

ﬁdﬁﬂﬁﬁﬁmﬁiﬁmm%taﬂ
a‘ﬁﬂ}gﬁmﬂﬁﬁﬁﬂﬁ?

(A) s0fmE
@) 45
i) sofeEid
Dy 57 FmE

37.

39,

40.

-i1-
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PANKO F1 OBMLN & fomEn S |
snnunﬂmmﬂﬁmmmt

{A) RBPQC (B) RBSPC
c) RBQPC (D) TBQPC

f@ s ‘honest # ' ¥, T HEN
o T
(A) =
[€) =

Eﬂldﬁ'ﬁmﬁiﬁﬁﬂﬂﬁﬁﬁﬁ
o & e & o & e
=TS ) e 7

(A) FETE

B TF
cy =
(D) o

ﬁnmmﬁmﬁﬁ{?ﬁw
) ST e ?

AC EG IKMO 7

(&) PR

(B) QS

() QR

(o} PS

fam wEn ‘EPIC 1w CIPE Tk
o T RIPE T F A

(A) EPIR

(8) PERI

(c) EPRI

(D) PEIR

I —————
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a1.

42.

43,

A*x

i) Arithmetical and Numerical Ability

7 « 15="T75%of 220
(A) 26 8y 11
(cy 110 (D) 22

Which of the following has the
fractions In descending order ?

14 19 23
15' 21' 25
23 13 14
a5' 29" 15

25 14 189
© 557521

(A)

(B)

14 23 19

(B) 35' 25 21

By how much is two-thirds of 86 is

|ess than three fifths of 210 7

(A) 206 B) 114
5

(C) 62 (D) EE

A 250 matres long train speads past
a pole in 12 seconds. What is its
spead in Kilomatres per hour ?

(A) 7.5 @ 75
(c) 50 (D) 25

Investing a sum of 2,000, Mohanlal
gpened a toy-shop and Chandulal
joined him 2 months later, investing
5 capital of T 3,000, They gamead a
profit of ¥ 3,600 at the end of the yaar.
What is the difference in profit samed
by Chandulal and Mohantal ?

(&) ¥1,800 (B) %800
(C) T 500 (D) %400

P

48,

47.

48,

44.

50,

A certain number of sheaves of foddar
lasts 42 animals for 16 days ifeachls
ted 5 sheaves per day, For how many
days will the same qu antity lasi
a5 animals, if sach is given 8 sheaves
per day 7
(Ay 12

(G 7

® 11
D} 1B

Which of the following has the surds
in ascending order ?

(A) 5 ¥a? %50
B) 3%, 5. ¥50
(€) B0, ¥32. 45
(D) %50.45 ¥s*

There are 7 teachers including
William, How many committeas of
4 tsachars can ba made with William
as Chalrman ?

(A} 120

(B) 20

(C) B0

(O} MNone of these

The lengths of the diagonals of a
rhombus are 10 em and B cm. Find
its area.

(A) 40sg.em
(C) 40cm

(B) B80eg.cm
(D) B8hcm

The perimeter of a square is 24 cm.
What is the length of its diagonal ?
(&) 12em (B) 4.3 cm
(C) 6em (D) gz cm
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D) §50..5.¥3%
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(A) 208 (B 114 &1 Torat aftfaf e=nd = ow s
5 faferm g 7
) & D) 53 (A) 120
’ (B) 20
44, Esnnﬁﬁﬁﬁrﬁﬁﬁaﬂﬁ@n}i (©) 60
tp s AT S 8 | SH A S
ez uft e e 2 7 i) FA R
(A} 7.5 (B 75 49, UF mmEmds & fasel & e
(C) 50 (D) 25 10 @3 = g .. 2 | SEw %
. e TEE |
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T EiEE g
AfeiaE 3,000 wEad Fan s () s08 (D) eow.
mitadme | F A TE €3600 | 5p usA oy o4 @ 2w e

1 TATEI EIA1 & | el S Ao

3 AT 1 S TR ?
(A} ¥1.600 (B) ¥ 800
(C) %500 (D) %400

=1 oreaTs el 2
(A) 1283 (B) 4.3
(C) &#H.. (D)
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51.

52.

53.

54,

55.

A

The diameter of a sphere is § cm. Itis
melted and drawn into a wire of
diameter of 0.2 cm. Find the langth of
the wire.

(A} 30m (B 38m

{Cy 12m (D) 3B0cm
Find the Compound Interest on
7.5 000 for 2 years al 10%.

(&) 1,000

(B} T1,500

() ¥1,050

(D) None of these

A man bought 500 sharas of face
value T 10 and during the first year
after purchase receives T 400 as
dividend on his sharas. Find the rale
of dividend on his shares.

(&) 8% (B) 12%

[C) 10% D) 15%

2 +b=0 a2 +tP=41 ah=20,a7+ =7
(4) 198

[B) 188

(C) 189

Mona of these

)

The sum of the first ‘n' natural
numbers is 488, Find 'n’,

(&) 30 (8) a2

(c) 31 D) 33

The avarage waight of 40 students of
s class s 48 Kg. After a new students
admission, their average weight
becomes 48.1 Kg. Find the weight of
the naw studant.
(A) 48.1Kg

(C) 52Kg

(B 48.2Kg
(D) 521 Kg

1

57,

5B.

L

The medianof 7, 12, 15, 11,6, 20, 8,
4and 1018

() 11
{B) 10
(C) 12
D) 8

In a parallelogram ABCD, bisectors
of | A and | B meatatF. | APE =7

(A) 80
(B) 100

(C) 110°
(D) Cannot be determinsd

An arficle is sold at a loss of 10%. If
tha same article is sold for ¥ 30 more,
there would have been a profit of 5%.
Find its cost price.

(&) T150
@ 7105
(C) T200
(D) %250




51.

22,

54,

A

T TS = 6 H.AL B TH e
3ot 0,2 H o, ST = A A i |
30 A £ et T Fiiem |

(A) B30T B) 36!

(C) 124, (D) asodE.A.

10% =78 = H T 5,000 T & 79 =
Sis 54T B
(A) 1,000
(C) 1,050

(B) 1,500

(D) FEAFET
v =i ¢ 10 3T e & 500 T
Wi & iR WiE ¥ 2 o 96 H

ety A 30 T 400 39 FEA] 9T ETHEI
T SR | 3 TR ST 2

(A) 8% (B) 12%
(C) 10% (D) 15%

4 b=8 32 +b2=41,8b=20, 3
adepi=?

(A) 198

(B) 189

(C) 189

(D) THHFE A

Afe a2 o TV S F1 G 496
AL e

(A} 30 (B) 32
{C) 31 (D) 33
o A F 40 frnfidl = e T

agfem 2 o au el F et a e
siad o= 481 FRa, € T ¥

Feremeff =1 =12 e e |
Ay ag1fRm  (B) 4s2fEm.
©) sefem (D) s21TEmL

JDD-17/PGT-BIO/X-14

57. 7,12, 15, 11, 6, 20, 5 4 37 10F

a0,

e 7
Ay 1
(B 10
(C) 12
(D) 8

ABCD mreEmdE A | A o |B &

(A) 80
B 1008

() 110°
(o) T == o s

i AR A 10% =2 A ST 8 | g
1 = T 30 e o A S |l 5%
1T B e A1 | 3 S
T A |
(A) T150
(B} T105
(C) %200
(D) T 250

g P9 3
5 Esﬁ:m =] TEHE 5
(A)
(B)

(C)

|~ 3le Rlo #=

(O 35
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v) Test of Language : Hindi
wraT gt ; T
T 61 to6d - TR A =T w1 Gem 66. FHE
e i | (A) =4 (B) =Hr=wt
e (c) =4 (D) =m
(A 67. #9
(B) ==
A 1
{Cy ¥ :ﬂ: Tl
o SRt
(D) fefaT il
82. HIFH (D) =
(A} wfoge :
(B) g™ 68. &R
(C) =EAfa (A) TS B) @4
(D) = (C) = D) ==
63, 3T 60, =HE
() mEm (A STTEE
(B) = {B) =M
(C) &= (C) =F=
(D) =T (D) 3R
B4, I 70, TE
(A s (A E=m
(B) TR (B) =M
([C) = (C) +=H
(D) 31 (D) ==

T 65 10 70 : A e o -
s S |

g5, a
(&) g (B) T
(C) = D ==

A*

T 71 10 75 ¢ A9 T5E M IRl 1 gAETEE
e B |

71. TEEN
() =@ (B) I
(C) =58 (D) g

=




| U500 R 10O 0T YO 1
T2, =M
(A} T (B} 3
(C) = Q) =/
73, TEm
(A) =7 (B)
(C) &= D) =W
74, SNTER
(A) T |\ =
(€) R © T
75, FEm
(A) T (B) aL
(c) = (D) T
76, SIESHIANEAMEITER_ wRAE
(A) s
(B) sl
(C) i
(D) =&
e Femd e e T2 v e o I e |
ot g HE 3 i 8 8 v b e
7ot e iR e & f s st = = feen
F1 R shem dam e m
I T 23 FE 1897 F EE | g0 4 |
5 e = A s §te S o ufee
THEE S TN T F TN E IR
7 o = & e gumes 2 s wwEn

A 35 8 W IR B | S S S 0 e
fore o and. . mm. FiufE e T F R
== 1) ofi i F e

A*
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% 5% 905 9 59 gERUl YT F1 e
HeTe G S H S T o | e A
A gt 2 R el il S om I s

1942 W Hameft 4 “*amee Tz v W 9w
N 1ds T AT g aE F
oy Favet = mey B

T 7T to B0 :

77. ENMESEEEE_ FIgsd
(A) 237 1887
(B) 23 7ait 1997
(C) 21 =ad] 1897
(D) 23 Faait 1897

78, SR A AH TR |
(A) =]

(B) THwERE

(C) wEm

(D) ==

79. TS O o 5 7
(A) TR sm e |
(B) SHimA
(C) FTH

(D) FTHEATH

AR EE W TE A |
(A) e A, .

(B) #E.T,TH,

(C) ..

(D) UH.H,

80.
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v) Test of Lenguage : English
wTaT uiter ; St

Directions (Qs. 81 to 85) : Read each
sentence to find out whether thers is any
grammatical error in it: The arror if any wil
bein one part of the sentence. The number
of that is the answer_ if there is no error, the
answer is (0,

81. The European nations have becoma
ona of the (A)/ favounts destinations of
the Indian students (B)/ seck speciakisad
knowledge and training. (C)/
Mo error (D)

82. The economic disperity has grown
rapid {A) in the-era of giobalisation (B)/
and free market forces. (C)/ Noemor (D)

B3, Many poverty alleviation schemes (A)/
are not applicable of stam dwellers in
metro cities (B)/ as they ara above the
poverly fina. (C)/ Mo error (D)

B4, Lack of ability to read or write Is just
{A) one of the barriers that keap (B)/
the poor people underdeveloped. (C)/
Mo errar (D)

85. Training have a positive eifect {A) on

the development of (BY various skills
and abllities. (C) No error (D)

Directions (Os. 86 and B7) ; Choose the
word which is mest oppasite in meaning to
the given word,

85 Abundant
(Al Ample (B} Sufficient
{C) LUttla (D) Plenty
A

87. Construct
(A) Daestroy (B) Acqguire
{C) Relax (O} Possass

Directions (Cs. 88 and B89) ; Choose the
word which is maost similar in meaning o the
given word.

B8. Pardon
(A) Produce (B) Excuse
(C) Sell (D) Develop
89. Mandatory
{A) Real {B) Bravery
(C) Reguired (D) Discovery

Directions (Qs. 90 and 91) : In each
sentence, there ars two blank spaces. Find
out which of the words given below each
senience can be used to fill in the blanks to
make the semtence meaningfully complels,

90. itis for every tax payer
0 ———— the tax retums to the
Income Tax Dapartment,

{A) binding, pay

(B worthwhile, evade
(L) obligatory, submit
(D} possible, remit

Bl. Heisusually
appears rather

(A) calm, disturbed
(B} tenss, restiess
(C) qulet, ealm

(D) calm, guist

but 1oday he




Directions {Qs. 92 and 93} : In each question
there are four differant words, out of which

one is correctly spell. Find the correctly spelt
wiord.

2. (A}
()
(S

1B}

a3, (A)
(B}
(C}
(D)

Accomodats
Acommodate
Acomodaie
Accommodate

Courageous
Couragious
Corragecus
Currageous

Directions (Qs. 94 and 85) : Fill in tha blank
with appropriate altermnative.

84, The leadsr, with all his men, ————

imprsoned.
(A) was (B} wers
(C) are (D) will
95. She because she had
been waiting for you for an hour.
(A) Isangry
(B) was angry
(C)  will baangry
(D) shall be angry

Directions ((s. 96 to 98) | Read the passage
carefully and answer the questions that
follow it -

Once three old men setout on a |oumeay
together. One of them was bald, the second
was a philosopher and the third was a
barber. At nightfall they decided that each
one of them should sit for watch tum by turn.

A*

JDD-17/PGT-BIO/X-14

The barber was o kesp watch first of all, the
philoscpher aftar that and the bald man last
of all. So the philosopher and the bald man
went to sleep and the barber was on watch,
For somelime he kept awake but in the end
he felt tired of it and he thought of some
diversion as otherwise It was difficult for him
to pass time. Then he took out the razor from
his box and shaved the head of the
philosapher.

95. What was the profession of the
second man 7
(A} Teacher

{C) Barber

97. Fram where did the barber take out
the razor ?

(A} From the pocket
(B} From the drawer
(C) Fromthe box
(D) From the shelf

(B} Philosopher
{0} Mediator

98. Why did the barber shave the head
of the philosopher ? '
{A) he disliked diversion
{(B) he wanied lo earn money by
shaving the head
(C) toteslihe sharpness of the razor
(D) 1o passtime

99. Gender of 'Desk’is
(&) Masculine gender
(B} Feminine gender
(C) Neuter gender
(D) Common gender

100. ‘God madea the country and man

made the town’,

In the above sentence, ‘and' is a
(A) conjunction (B) adjective
(C} pronoun (D) interjaction
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| 00 O D A

SECTION=-B
Post Specific Subject-Related Questions

ia1. Which of the following is the correct

descending sequernce of taxonomic

categories 7

(A} Class —order—division - family -
species - tribe

(B) Family — order —genus = order —
division — class

(C) Division — class —order - family —
tribe — GaNUs

(D) Family— order— division — family -
specias — tribe

102, “Die naturdichen pflanzenfamilien” is
written by
(A) Bentham Hooker
(8) Engler and Prantie
(C) Linnasus
(D) Hutchinson

{3, Ditferantial staining of bacteria on

Gram staining is due to

(&) Difference in the cell wall layer
components of Gram positive and
Gram negative bacterla

(B) Difference in the call structure of
Gram positive and Gram negative
bacteria

(C) Difterence in the mode of the
autrition of Gram pesitive and
Grarn negative bacteria

(D) Mene of the above

104. Ruminate Endospsrm s present in
which family 7

{A) Orchidaceas
(B) Rublaceas
(C) Annonacesas

(D) Asclepiadaceas

105, Which one is known as filamentous
bactera ?

(A} Mycoplasmas
(B} Spirochastss
(C) Actinomycetes
(D) Vibrios

106, Cork-screw shaped forms of bacteria
e :

(&) Bacili

(B) Stalked bacteria
(C) Spirochaeles
Dy Actinomycstes

107. Outside of lving call, the vius paricke
is called

(A) Virion

(B) Capsid
(C) Obligate parasite

(D) None of these

A* 20
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G -=
ez ThTEe e —addt o
101, Predddmdater e saud | 104, PR gE ARl e R 2
IR ? (A) Orchidaceae
(A) TR -0 - fauEe - e - = - (B) Rublacess
T (C) Annonaceae
® ?W"F_W_ﬁ_ n (D} Asclepiadaceas
2 iﬁmfmqﬁ_ﬁ-w_ 105. FegE ST FEdt e A R 7
(D) =177 — P — el — T (A) HEREAEIE
HHEE (B) vIET=EH
C) aFmmEEHZA
102. “Die naturlichen pllanzentamilien” = =
e (0) ToakEm
(A) W 2 5
@) Gl 106, -0 % AR 5 = #n 7
(c) feriteg G SRS
D) R (B} EFmaET
(C) FhETE
103, T siE 7 HaEnE = A (©) srFTE
AT 35 w0 B 3
() T A R A | ) i e e, T
35 R i e A i ik g
(B) T TiTeTte i e FnfEs et @) T
& i & g S "
(C) i i e e e G e
& it 3 w6 H W (C) wFmEE T
(D) sHEFETE (D) SFHAFETE

A* 1=
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108. “Eleterium” a dangerous diug is | 112, Cryopreservation is useful for
obiained from
(A) Preservation of semen
(A) Ecballium _
(B} Living cells
B} Sech
Bk SeEhhR (G) Very young foetuses
0 Tennndiee (D) Al the above
(D) Echinocystis
113. Who is known as the father of
109. Scientific name of “Indian Telegraph” Phycology 7
plant is (A) De Bary
(&) Canavalizansiformis (B Fritach
(B} Indigoferatinoloria (C) Anstatie
(C} Desmodiumgyrens (D) Hodgkin
{0) Butsairondosa
114, ‘“lpecac” which is an excelient drug for
110, AIDS virus containg Ampebic —dysentery is obtained from
(&) DNA only {4} Roots of Monnda
{E] RMA only (B] Waood of Monnda:
[C] DNA + Protein (C} Roots of Celphalis:
(D} RNA + Protein (D} Wood of Celphalis
111, Ginkge biloba is not now an | 115. Onthelopofine Owary a nactar disc
endangered species because of its “stylopodium” Is prasant in the family
(&) Ex-silu consarvation (8} Euphorbiaceas
(B) Offsite conservation (B) Apiacess
(C)  In-situ conssnation {C) Orchidaceas
(D) Cryopresarvation (D)  Lamiaceae
Ax* -22.




108.

108.

110,

111.

A*

“erieiEm | TR wE o 96E e
Elik

(4} Ecballium

(B) Sechium

(C) Trichosanthes

(D) Echinocystis

g 2o A SIS AW R
(A) Canavaliaensiformis

(B} Indigoferatinotoria

(C) Desmodiumgyrens

{0} Buteafrondosa

TEH o ATEE H R 8
(A} AT DNA
(B) FaeT RNA
(C) DMNA 4 i
(D) RNA

379 Ginkgo biloba Hzr= Ffd 781 7,
ZHTT F00 # IHH

(A) TR HET

(B) SAFFATEE HiE

(C) WM ST

(D) it o

112.

113.

114

115.
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(A) T OiaEm
(B) Sitfae st
(C) Ed Hew=Twh Yol
(D) oot

RIS (e ) o faneE Y
FEIATR 7

() FHah
®) s
(C) ofgEies
(D) - it

‘sé% (Ipecac) St snftan-dfay 4
e AT 7, A W o e 8

(A) HITET =S

B) aifzr i awdl

(C) HeETRieTH =i =%

(D} Herwlcs F1 =

ST S e ErEEn
T W T 36 el A WS W11 2
{A) Euphorbiaceas

()
(C)

Apiaceae

Orchidaceae

(D) Lamiaceae
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116.

17

118,

118.

A

Flavouring agent *Vanilla® belongs to
the family

(A) Lamiaceas

(B) Apiaceas

{C) Orchidaceas
(D} Asclepladaceas

Feathery stigmas are sesn in
(A) Orchidaceas

B} Palmas

{C) Oleaceas

{0} Gramineas

“Stamensare the male organs® of the
fiower was first stated by

(A) Camerarius
(B} Kolreuter
(C) Grew

(D} Amici

In which type of ovule the nucelular
fissue remains single fayared 7

{A] Unitegmic ovules
{(B) Bitegmic avules
(C) Tenuinucellate ovules

(D) Crassinuceliate ovdes

120.

121.

122,

123,

Which of the following ara the features
that differentiates cilla from flagella 7

(A} Clila are short compared lo fiageila
(B) Fagela are lessin number compared
to cilla

() Cilla are distribuied fhroughout the
call surface

(D) Al of the above

Eukaryotic flzgella is driven by
(&) ATP

(B) Proton

(C) Both (A)and (B)

(D) None ofthesa

Bioluminescence is & phenomenon
associated with

(A) Chrysophyta
(B) Phasophyta
(C) Pyrophyta
(D) Chiorophyta

Which of the following algal divisions
is characterized by posssssion of
chiorophylls A and B, starch as ths
enargy storage material, cellulosic
cell walls and five in fresh water and
marine: habitats 7

(A) Chlorophyla
(B) Chrysophyta
(C) Phasophyla
(D) Pyrrophyta
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116 qﬂaaﬂﬁ‘%ﬁm"mﬂﬁﬁmﬁ 120, T H A AT  aE S
i # i T 7

A fa

Gl (A) T e R S1 E
(B) Apiaceas 3

(C) Orchidaceas (B w&mﬁm #1 qe § i

T 5 R R

D) Asclepiadace
i " (G i 7 e T e e
o '

i {17, g afdem S 4E 9 §
(A) Orchidaceas

(o) Sedad

121, TR g i T A §

(B) Palmas
cy O ae (A} e
i S (B) T
{0} Gramineae ©) (A3 ©)FF
(D) T HE AL
118, mEl ¥ T W R 4R
wae 58 \oo. SRR T T sk B
() FAOEE (&) TR
(B) TR (B) P
©) I3 (C) TETEE
(D) wiER (D) TR
1o e i e e e & FETE
110, F T AT § AR S A 37 B 1 ST, T S 95
e T T 2 7 o0, e ST T S T
3 v 3P T A A A 8 7

(A) TS EE

FAHEE
B TmEEdR TS i
g : (B) FEEIERET
c b 1
(C) Tenuinucellate =g ©) T
0y Crassinuceliate ¥ (D) TR
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124. Which algal division is divided up
into three main groups consisting of the
golder-brown akgae, the yellow-graen
algae and the diatoms 7

(&) Chlomphyla
(B) Chrysophyta
(C) Phasophyla
(D) Pyrmrophyla

125, Origin ard evolution of sex in algas
is best seen in

(A} Blus-green algae
(B) Green algas

(C) Red algae

(0) Brown algae

126. Zygolic melosis is a characlenstic
feature of

(A) Algae

(B) Bryophytes
(C) Pteridophytes
(D) Gymnosperms

127. Sargassuaaaisnanmmﬂ:analgaa
Sargassum which is a

(A) Grean algas

(B) Brown algae

({C) Red algas

(D) Blue-green algae
A*

“26

128.

128

130.

131.

0 0 A O 2

How many Antipodal cells are there
in Oenoihara type of Embryo sac ?

(A) 4
(B) 8
G) 3
(D) Zero

Central Drug Research Instituie is
situated at

(A) Delhi

(B) Bombay

(C) Chennal
(D) Lucknow

In some parasitic fungl a globular or
hook like structure is formed at the
point of contact with the host. This s
known as

(A) Hausloria
(B} Apprasorium
(C) Hold fast
(D) Hook

“Parfect stage” of fungus means

(A) When the fungus iz pertactly
haalthy

(B) When it produces asexually

{C} When it farms perfectly sexual
‘spores

{D) Noneof these




124, FrgrdEm e dHE g e
% oin fom ¥ g S, T
et siE fgwom fEa § 7

Fiaret & Tor 1 WITR A fEww T
%A ol e § TE W wa o

(&) Hen-En fErE
B) & 9EwE
(C) e S
(D) ¥EIa

125:

s} el see R W
(A) FETE

(B) FFTEEE

(C) ZRETHEE

(0) e

126.

EOTE SR R A SOTEs e e,
H U

(A) B SrETE

(B) OIEE

T T
i i

&7

(C)
()

128,

125,

130,

131.
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AT T o G T A (el ]

E it ank i

(A) 4

B) 8 [
(G) 3

() 3

i Ay T e o a7
(A) Teesit
(B) ==
(C) ===
(D) wEee

o wTE 51§ O Tee 9w
St s W % T WS R
WEI TR e T

(A] TR
(B) TR
(C) THE

(D) A==

Fam 31 | iy e e §
(A} mwwﬁmﬁﬁ%
(By e =g AT Bt IrT A £
(C) == =% SO Sl e S R
(D) T o =E A
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132, Enzyme code of Glucose-6- 136, Exanthema in citrus Is due 1o
Phosphotransfarase is
(A) Deficlency of Manganase
i g) Defl c
1 ciancy of Gopper
@8y 2-1-7-2 {
) 2722 (C) Deficiency of fron k
0y 27-2-1 (D) Deficiency of Alumirium
133, Assume that four molecules ot an | 437, Thepahalabiightal sugarcane is due
enzyme and gOO00 molecules of to the deficiency o
substrate are taken into @ tast wbe,
containing water. All the substraie (A} Copper
thGEUIBEl ars Eﬂl‘l".l'ﬁnﬁ'd into prbdun’.'ﬁ :.E'.:l MﬂngﬂﬂEEE
iri five minutes. Considering this data,
caleulate the TON of that enzyme. (Cy Iron
(A) 2500 (D) Mone of the above
(B) 3000
() =00 138, White rustof cruchiars caused Alugo
(D) 4000 candida belongs to class
134, Planthormone usad as anl ranspirant s (&) Oomycetas
(A) 1AA (B) Plasmophora
(B) ©A (C) Phytophothora
(G} Ethylene
! (D) ABA (D) Aliofthe above
135. Organisation of stam apex into CoTpUS 130, Cleavage palyembryony is found in
and tunica is determined mainly by .
(A) Pinus
(&) Planes of call division
- . (B) Gycas
(B) Heaglons of maristematic activity
(C) Rateof cell growth (C) Cycas and Finus both
(D} Rate of shoot fip growin (0) Nens of thase




1ap. ‘‘re@ia-6-Phosphotransterase 1
TS HE R
(A) 2-7-1-2
By 2-1-7-2
€) 2722
O) 2-7-2-1

133, FeaT e i TR IR S S A
o R ST T AR 60000 FHRE
3 i % wr fo w2 oie e ©
Tz & Bt 3] i I o wieE
o s B | 79 T S H WA BT
T T T S 1 TeaE e |
(A) 2500
(B} 3000
(C) 3500
(D) 4000

i34, TR R v e e e
HemE

(A) R
B
(C) e
(D)
1a5. i TS ST S A A B
foutis o &
(A) ST (A
B) frg=sifieh sea
(c) FREEIE
(D) WiEsmEIEE

Ax

136,

137.

138.

138,
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Forsg a1  TTE g6 AN B
(&) T £

(B) T

(c) SrSwd

(D) gt

T B aeETe e R e s
ER AUk Lk

(A) T

(B) TS

(C) T8

(D) FAAFETE

Alugo candica St FEIF & s 57
B F1AT R, e TE 1 | win

(A) SHEi=H
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140

141,

142,

143

A

Tunica Garpustheory Was proposed by
(A Hanstein

(B) Schmidt

(Ch Haberlandt

(D) Robert Hook

Mugitaginous- canals in Cycas are
found in

(A} Pith only

(B) Cortex and pith
1C) \ascular bundle
(D) AN of these

The fruits spe piot formed N gyrmnospenTs
because y

{A) Theyare saediess plants
(8) They are not pollinated
(€) They haveno ovany

(0} The process of fertilization coes not
take place in them

Stomata are absentin
(&) submerged plants
(B) Xarophylss

{C) Free floating plants
(D} Allotihe above

144.

145,

146.

147.

L
'Iﬂliﬂlllﬂlﬂllﬂlilll

Enrichment of water bodies through
human activity I

(A) Denudation

(B} Eutrophication

(C) Naturosis

(D) Leaching .

Plants growing on snow are knowr a5
(m) GCryptophyles

(B} Cryophytes

(C) Therophytes

(D) Oxylophytes

Garpogenial fitament of polysiphonia
consist of following number of cells

(A) 3—4
{B) 4-5
[cy 5-6
(D) B-T7

Which of the following is notconcamed

with cyanophyceas T

(A} Absence ot sex organs and motile
reproductive badies

(B) Simple proloplasts with plastids

() The low state of the thallus
arganisation and extramely simple
cell structure

(D) Absence of well organized nucle
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148,

148,

150.

A*

Phytochroms is involved in
(&) Phototropism

B} Photoperiodism

{C) Photorespiration

(D) Phﬂ!.uphﬂsphuqﬂaﬂnn

The branch of ecoiogy that cdeals with
the biclogical relationship between an
individual organism or-an individual
species and lis anvironment

(A Autecological
(B) Synecoiody
(C) Phytogeography

(D) None ot tha abova

Cancer's are apan of every culturé
and have been around as long as
people. The study of cancers IS
known as

(&) Physiology
(B) Pathelogy
(€] Oneolo gy

(D)  Meurology

I

151.

152

153.

154.

L
llllllﬂllllﬂlﬂl‘ll

which of the following was the cause
of the “baby boom’ in the last cantury 7

(A Immigration
(B) Ending of the war
() Development of birth control

(D) Mortality

Which one of the {pll.uwing molecules
is not a companent of the 30s initiation
complex ?

(&) GTP

(B) mMRNA

(Cy Initiation factor 2
{0y ATP

Animals get nitrogen directly through
(A) MNitrogen fixation

(B) Plants

(C)} Bactena

(D) Habitat

The king of Indian spices
(A) Foeniculumvulgare
(8) Piper nigram

(C) Curguma longa

(D) Zingiberofficina
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A ) 7

(A) STHETEA
(B) g&Hwn
(C) wald e
(D) ==

fFrfaftaa o ® Fa 3] 30s HEOI
v = S iR

(&) GTP

B) mRNA

(Cy i s 2

(0 ATF

S S AT T T g e
(A) ST T

(B) =

(C) =T

(D) Sl A

ST T =5 Tl 2

(4) Foaniculumvuigare
(B) Piper nigram

{C) Curcuma longa

(D) Zingiberoificing
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1583.

156,

157.

158

Selaginella ditfers from Funaria in
having

(A)

(B) Well developed vascular system

Matile sperms

(C) Anindepandant gametophyte

(DY Antheridia

Protonema occurs in the life oycle of
(A) Ricoia

(B} Funana
(C) Dryopteris

(B) Spircgyra

Formation of gametopiyta directly from
sporophytic tissue without spores is

(A
(B)

Apogamy
Apospory
(C)
(B

Apocarpy

Panhenogenssis

Feim gametophyte is
(A} Multiceliular cordate prothallus
{B)
(C)

()

Liver shaped thallus
Unicallular cofouriess

Filamentous, multicellular and
grean

180,

161.

"
0 0 5 A8 S

The enzyme responsibie for continuing
DMA replication In prokanyotes, once it
is initiated is

(&) DNA polymerase |

(B} DNA polymerase Il

{C} Polymerase beta

(D) Polymerase delta

In Pymrimidine Synthesi, Eukaryotas

can use uracil to fesdback inhibit
which of the following enzymes 7

(A} Carbamoyl phosphate synthase
(B) AsparataieTranscarbamoylase
(C) Dihydrooroiase

(D) Thymidylate synthase

Cytogenetic mapping

{A) Reguires thalthe gene have been
clonad if in-situ hybridization is to
be used

(8} ls a high resolution method of

gene localization

Can be usad to detarmine ralative
order of genes located very close
to each other

[T}

(D) Al of tha above
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(B) AsparatateTranscarbamoylase
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162. Which of the following guestions 163.

could be easily answered by FISH ?

(&) How often does recombination
accur between tha ebony and
sepia loci in Drosophila ?

(B} In a particular jamily affected with
Becker muscular dystrophy, isthe
mutation due to a deletion of the
antire gane 7

(G} How large a piece of DNA would
you need to clone in order to clons
the group of human globin genes

trom chromasome 117
(D) MNone ofthe above

Directions (Os. 163 and 164) :

vou have set up the following gxperiment to
linkage map two RFLPs in pigs. For RFLP
A, you can detect either a 5,000 bp band or
a 3,350 bp band; for RFLF B, you can datect
sithar a 4,300 bp band or a pair of bands of
2 300 and 2,000 bp. Beginning with strains
homozygous for ditferent forms of each
BFLP, you generate compeound
heterozygotes, which you then cross to pigs
that are homozygous for the smaller forms
of sach AELE, By analysis of sevaral litters
you get the following results: 52 individuals
with 5,000 bp and 4,300 bp bands; 48
individuals with 5,000 bp, 4,300 bp, 3.350bp,
2,300 bp and 2,000 bp bands; 11 individuals
with 5.000 bp, 4,300 bp, 2,300 bp and 2,000 bp
bands: and 9 individuals with 5,000 bp,
4 300 bp and 3,350 bp bands.

A*

164,

165.

What was the arrangement of the
markers in the original parental
strains 7

(A} A : 5,000 bp, B: 4,300 bp and
A 3,350 bp, B : 2,300/2.000 bp

(B} A : 5,000 bp, B :2,300/2,000 bp
and A : 3,350 bp, B : 4,300 bp

(C) A :3,350 bp, B : 4,300 bp and
A 5,000 bp, B:4,3000bp

Oy A: 3,350 bp, B: 2,300/2,000 bp
and A:E.Eﬁﬂm,ﬁzam,ﬂm bp

Which of these genstic markers is
most Hikely to be highly polymorphic
thave many differant aliales) 7

(A} An RFLF

(B) A microsatallite

{Cy An SNP

(07 Alofthesears equally palymarphic

Mendel's hybridization stralergy was
use of two plants

(A} Differing in a pair of contrasting
character

(B} Differingin twio pairs of contrasting
characier

(C) Differing in many pairs of
contrasting character

(D) Differing in three pairs of
contrasting character
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4,300 bp 9= E ; 48 =af % 5,000 bp, 4,300
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1133722 7 5,000bp, 4,300 bp, 2300 bp 37T
2,000bp 52 ¥ ; 3fit o =i fd 5,000 bp,
4,300 bp 3 3,350 bp Frz ¥ |
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183, oF UqF 3994 % s ¥ o=

wHE?

(A) A : 5,000 bp, B ; 4,300 bp 3k
A 3,350 bp, B :2,300/2,000 bp

(B) A:5,000bp, B : 2,300/2,000 bp
31T A 3,350 bp, B : 4,300 bp

(C) A : 3,850 bp, B : 4,300 bp a7
A 15,000 bp, B : 4,300 bp

(D) A:3350bp, B: 2,300/2,000 bp
ﬁ‘hn:aa&um.a;zmmnbp

ﬁﬁmmmﬂgﬂﬂ
A i s gl 7

(A) TE RFLP
(B) UHgETEE

(C) U SNP

(D) Immﬂmﬁﬁ#agﬁﬁt
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(A) R R AR § R
B) =t iife | fai 3 A fim
(C) IrF =Tl i Ry A § i
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166.

167.

168.

168,

A

Gene transfer in bactsria by
transformation has the following
characteristics
(A} A majority of the donor genes are
transfarmred

It involves a plasmid

it depends on phage infection of
the recipient cell

(B)
(C)

(D) It can be carriad out using free

DA extracted from the donor

Any process that results in the
integration of new combinations of
genes together in-a single cell is

(A)
(B)
(C)
(D)

Genetic recombination
Fusion

Genetic fission
Allalotyping

Common lymphomas in pediatric age
(A)
(B}
(C)
o)

Anaplastic large cell lymphoma
Burkitt's lymphoma

Follicular lymphoma

Diffusa large i -cell lymphoma

Mycepithelial carcinoma Is Immune
reactive for

(A} S-100, CD1a and p53

(B) EMA, deaminand fibrin

(C) Cytokeratin, 3~100 and calponin
(D) CD20, CD3 and vimentin

170.

171

172.

@

Which of the following is associated
with Burkitt's lymphoma 7

(A) EBV

(B} Arbo virus .
{C) Picoma virus

(D} Pox virus

Link the following cancer with their
comesponding viruses :
1. Cervical cancer A. Epstein Barr

virus
2. Burkitt's B. Human
lyrmphoma papilloma virus
3. Masopharyngeal C. Hepatitis B
cancer
4, Hepatocellular D. RNA ratrovinus
carcinoma

5. T-cefl leukaemia
(A) 1A, 2A,3B, 4C, 5D
(B) 1D, 2A, 3A,4C, 5D
(C) 1B, 2A,3A,4C, 5D
(D) 1C, 2A, 3B, 4A, 5D

The transfer of oncogenas from ona
call to another is called

(A} Infection

(B) Transduction
(C) Transfection
(D) Inductance
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173,

174.

175.

176.

A*

Organisms, which damage man's
property, including plants and
agricultural produce causing damage
of significant economic importance
ara called

(A) Pests

(B) Pathagens

&
)

Parasites
Alians

What do the following Insects have
in common 7 sod webworm,
bagworm, black cutworm and
monarch

(A} They all belang to the order
Lepidoptera

They all feed on trees

They all migrate

They are all butterlies

(B)
(C)
(o)

What is the major alfalfa insect pest
insect in this region ?

(A} Alfalfa weevil
(B) Alfalfa looper
(C) Blister beetls
(D) Alfalfa butterfly

Carmpenter ants belong to which of tha
following the orders 7

(A) Nsurcpteran
(B} Lepidoptera
(C) Plecoplera
(D} Hymenoptera

177.

178.

178.

180.

s
|G 0 A

What do the following insecis have
in common 7 mayfly, caddistly,
masquito, dobsonfly

{A) They all belong to the order

Lepidoptera
(B) They all fead on trees
(C)

()

Thay all live in the watar
They are allin the order diptaral

Which of the following is a function of
air bladder 7

(A)
(B)
(C)
(o)

Respiration
Sound production
Buoyant float

All of the above

Which of the following structure of a
fish is homologous with lung of frog 7

{A) Gill pouch
(B) Swim bladder
(C) Stomach

(D) Book lung

What is the scientific name of
pinworm of man ?

(A)
(B)
(C)
(&}

Enteroblus vamicularis
Trichinella spirals
Trichuris trichiura

Dracunculus medinensis
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181. Which structure is called tongue of 185. Genome comparisons have
cockroach ? suggested that mouse DNA has
(A} Labium mutated about twice as fast as human
- DMNA. What is a possible explanation
for this discrepancy 7
(€} Hypopharynx
Al Mice are mu ' 1
(D) Mandible (Al much smaller“than
humans
182. The skull of frog an rabhbit are (B) Mice live in much less sanitary
(A} Dicondylic conditions than humans and are
therafore exposed to a wider range
(B) Monocondylic of mutation-causing substances
(C) Tricondylic )
(C) Mice have a smaller genoma size
(D) Tetracondylic
(D) Micahave a much shoder generation
183. Which of the following is used as time: fwp_campaign_1}
emulsifier 7
(A) Algin 186. Why was the genome of the protist
B) Agar P. falciparum difficult to sequance 7
(C) Carrageenam (A} This protist has a large genome
(D) Funoran (B) This organism hides inside red
blood celis;, making it difficult to
184, Recurrence of fioods in the plains of obtain enough DMNA for the
North India is due to excessive saquencing project
(A) Siitztion-of dams (C) The apicoplast structures in this
(B} Rainfall protist inhibit sequencing reactions
(C)  Agriculture (D) The genome contains a high
(D} Deforestation in catchment area proportion of adenine and thymine
A £
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187. Which of the following best describes 180. Which of the following is the study of
pseudogenss 7 a collection of genatic matarial
(genomes) from a mixed community

(A) Two functional genes within an of organisme. Itis usually refers 1o the

organism that arose from the

e study of microbial communities 7
duplication of one gena (A) Mstag :
(B) Genes that share the same (B} Genomics

ancestral sequence, but are found

{C) Epigenetic
in diffarent crganisms ) Eplge

(D) None of the above
{C) Sequences of DNA that are very
gimilar to functional genes, butdo | 191, Infemales, one of the X-chromosomes

not produce a functional product s inactive by
(D) Sequerices of DNA that are very (A} The number of dominant genes on
similar to Inactive genes, but do sach X-chromosomes
produce a functional product (B} Epigenetic markers
(C} Environmental factors
188. The Tbx5 gene fs known to play a (O} Enzymes  coded: for by
role in which process 7 mitochondrial DNA
{A} Notochord development 192, The only methylated base in
(B) Limb formation mammals is
A) 7-methyl guanine
(C) Eye formation @) i
{B) Thymine
(D) Sexual reproduction (C) Methy! adenine

(D) 5-methyl cytosine
188, How many pairs of chromosoemes do

chimpanzees camy 7 193. Which of thase is not secrated from
(A} 23 Antarior Hypophysis 7

(A} Thyroid Stimulating Hormone
(B) 45 (B) Adrenocoricotrophin Hormone
(C) 24 (C) Omytocin
(D) 48 (D) Follicular Stimulating Hormene

A* A4
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(A) 7-methyl guanine
(B) HRHIE

{C) Methyl adenina
(D) B-methyl cytosine
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184. Long term management of 198. Morphogen
hypercalcemia does not include 4 I
(A) Bisphosphates {A) Convays positional information 1o
cells within the embryo
(B) Hydration
(C) Calgitonin (B) Is typically present in similar
©) | ditrotics amounts in all calls
{C) Functions only at very low
185. The *master gland”of the endocrine concentration
E}’Eiﬁi1:l, located at the basa of the (D} Allof thess
brain, is tha
(A) Apical gland
(B) Bartholin gland 188, In Drosophila development, an
embryonic segment
(C) Pituitary gland i
(D) Thyroid gland (A} Is the same thing as a
parasegment
186. Which type of gland secretes (B) Will contribute to twa different
hormones direclly Into the segments in the adult fiy
bleodstream rather than Into ducts
leading to the exterior of the body 7 \&) Is a region of spatial control of
(A) Endocrine gland i e
(B) Exocrine gland {(0) None of tha abova
(C) Serous giand
(D) Target gland 200.  Which of these would be an example
of a homeotic phenotype 7
7. i '
i :;E;E;;ﬂm i e _penem ik {A] The wings are shrunken and
usaless
{A) During production of the cocyte
(B) As a result of environmental (B) The eyes of the fly are brown
Interactions with the oocyte Instead of nomal red
(C}) During gastrulation (C) The first abdominal segment has
(D) After embryogenesis has legs
completed (D) None of the above

A* rre




L
0 L 0 00 T O

1594,

195.

196,

157.

Ax

BRI T o 2 St e § g
TS

(A) FEHERE

(B) weEta

(C) FefeEfm

(D) w=me

waEEEt o waE i, .
ofer=s FoeHwe B e, 5k

(&) snegafa

(B) ameifeR i

(€) dryafy

(D) aweguf=

e vor 1 1w = EE

THYEE § w001 & 1 ol 5 =feain
=t ETe T g 7

(A) FAEEITE
(B) AwrEE kg
(C) st of=
(D) e

Drosaphila ¥ Y2t g g &
(A) TemmEEEfE S s

@) TR $ e s
AR F AT

(C) T & a9y
(D) HUErTR T el B o A

198,

188,

200,

JOD-17/PGT-BIO/X-14
B
0 % A & Wi a5 e
T T B iy il

wsft ifdemratl # wom o 3 Ry
TEHARE WA

Faa A # fer e & el
Fa i

% El

(A)
(B)
(C)
(D)

Drosophila & # yqurmers
(A) w®TEvEEE

(B) e wwdt 51 il wesi & asm
Al

(C) =i sihegs & fgan =1 ool
el :

(D) Fitid =

75 3 3 s oiftmies S
TR BT 7

(A) TEfEdniEneRE

(B) v i 3w wWEE A
EURG R

(C) T TEir e i s
(D) F i el




JDD-17/PGT-BIO/X-14
IMPORTANT INSTRUCTIONS TO CANDIDATES
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This booklet contains 48 pages.

4ease check all the pages of the Booklet

ﬂy.}in case of any defect, please ask
the Invigilator for replacement of the Booklet.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes
the statement and blacken (@) appropriate
circle A, B, C or D by Blue / Black Ball-Point
Pen against the question concerned in the

_ .
0 0O Rt

s a9 &, q e =l 38 deeH & T e |

13. 39 : TS W AT TS AR FYH F 91Q

IR I YA T FA AR TR | Tedh a9
7 19h! Toret Uah it AT & St W T HEl S
< YT HYT I T L IR 19! IT-9HHT
¥ 9T MAHR @R A, B, C J1D i Hfiar
FTAT TA-YI5< U1  FTAT (@) FET & |

Answer-Sheet. (For V.H. candidates (m—d IWiEart & fore Tma Meaen
corresponding circle will be blackened B
by the scribe) FRT T foRa wTe)

14. Mark your answer by shading the appropriate | 14, Wee 3v & G 3 g 1 e & S1aAT
circle against each question. The circle should fymifea 1
be shaded completely without leaving any space. W%é Iﬁﬁmﬁéwé’@ w |
The correct method of shading is given below. ﬁ%ﬂ%ﬁriﬁﬁ Eﬂwmﬁ femrmn? |

Wrong Method |[Wrong Method || Wrong Method || Correct Method “ TAd alT || e ale
OR0O00IOLO0IC®O0I0Ce OO O@OO O@OO Q@000 00
The Candidate must mark his/her response TS 3ht ST I A W e & 3

19

after careful consideration.

There is only one correct answer to each
question. You should blacken (@) the circle
of the appropriate column, viz., A, B, C or D.
If you blacken (@) more than one circle
against any one question, the answer will be
treated as wrong. If you wish to cancel any
answer, you should completely erase that black

15!

faf=a == =nfeu |

Tcdeh YY1 I dhadl Teh & &l IW ] | AT
Tfed Hiad AYIq A, B, C a1 D & MR
G F FHAT (@) FATR | AR A vt wm &
I T | AT AR @H 6l 9 (@) T
3191 I TTeAd JHT ST | Ife o1 foedt Iaean!

mark in the circle in the Answer-sheet, and T FHATERd & al 37 m—ﬂ@ﬂﬁlaﬁ‘a AT
then blacken the circle of revised response. @ﬁﬁmﬁﬁﬂmaﬁ@mﬁﬁaﬁaﬂtﬁaﬁ@!
16. A machine will read the coded information I F U MATFE @F F FAT S |

in the OMR Answer-Sheet. In case the
information is incomplete/different from the
information given in the application form, the
candidature of such candidate will be treated
as cancelled.

16.

.U, AR, TS § 3 715 2 =1 H T
T gett | Ffe = 1ol @ Srran aeH u |
TR gET 8 = R, a1 vl arveff it srefefan
e st s |

17. Use the space for rough work given in the
Question Booklet only and not on the Answer 17. Fed &l & (MU haA W H 4 Re B w1
.. T H | IR YR W FT FE T |

18. Youare NOT required to mark your answers - _
in this Booklet. All answers must be 18. 39 g%ﬁ?l & | 3! I IHfha &

indicated in the Answer-Sheet only.

anﬁ |mmm—wﬁwﬁﬁé |

Go through instructions given in Page No. 1 (Facing Page)
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